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(Government Of India)

QID : 1 - In the following question, select the related word from the given alternatives.
Hockey : Stick : : Boxing : ?

frofafed uy & faw o fawedt # 9 daftd st 31 gl

Eﬁ”ﬁ e SifRT: ?

Options:
1) Bat
el

2) Ball
g

3) Sword
deldiR
4) Gloves

Correct Answer: Gloves

Candidate Answer: Gloves

QID : 2 - In the following question, select the related letters from the given alternatives.
FS:LY::IV:?
frafafed oy § 3T e fawedl § @ defta sierl &1 gfuy

FS:LY::IV:?
Options:

1) GT

2) HS

3)IR

4)TZ

Correct Answer: GT
Candidate Answer: GT

QID : 3 - In the following question, select the related number group from the given alternatives.

Options:

1) 21: 447

2) 22 : 491

3)29:850

4) 31 :963

Correct Answer: 21 : 447

Candidate Answer: 21 : 447

QID : 4 - In the following question, select the odd word from the given alternatives.

FrofeRaa uy o i3 e fawedt & 9 vy wss & gl


http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=4410047089&scode=112&key=ca1b43823d05b4fc293a4184bef67b5a

Options:
1) Sea

g%
2) Ocean

HERITR
3) Lake

4) Marsh

qaad

Correct Answer: Marsh
qdad

Candidate Answer: Marsh
qdad

QID : 5 - In the following question, select the odd letter group from the given alternatives.

Frofered uy o f3u e fawedl & 9 fawy siert & wig &1 g
Options:
1A

2) EN
3) NW

4) PW
Correct Answer: PW
Candidate Answer: PW

QID : 6 - In the following question, select the odd number from the given alternatives.

frafaRad uy # fou 7 fawedl & 9 fawy d@m & gfu)
Options:
1) 170

2) 290
3) 360

4) 530
Correct Answer: 360
Candidate Answer: 360

QID : 7 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Effacers

2, Effacing

3. Effaceable
4, Effacements
5. Effacement

faffed Treal I Wead N H o a1l HH & IR ford|

1. Effacers

2. Effacing

3. Effaceable
4, Effacements
5. Effacement
Options:

1) 34125

2) 35412

3) 43152

4) 43215
Correct Answer: 35412

Candidate Answer: 35412
QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
C11,Vv17,023,?

TS e foaar T B, o ¥ U ug g 31 fou e fawmedt & @ a7 wel fawed g, S swH & g R

C11,Vv17,023,?



Options:
1) H30
2) H31
3) 129
4) 131

Correct Answer: H31
Candidate Answer: 129

QID : 9 - In the following question, select the missing number from the given series.
19, 26, 45,71, 116, ?
fafafad uy o fou e fawedl & @ g s F1d S|

19, 26, 45, 71, 116, ?
Options:

1) 166

2)172

3) 184

4) 187

Correct Answer: 187
Candidate Answer: [ NOT ANSWERED ]

QID : 10 - Abhinav travels 10 km north then turns left. Then he travels 6 km and turns right and cover another 7 km. He finally turns to right and travels another 6
km. How far (in km) is he from the point of starting his journey?

T IR fe=m Y 3R 10 5. Y. Teran 8 foR a1 3R g a1 §1 O a8 6 T 7. 9atan § a1 o geae oik 7 &5, 9aan §1 Sidd: 98 o ok ga1 § a1 3R 6
fop. Y. Trerar 31 98 3o TR F SR wH  fhat @t (. H) W 2

Options:

1) 14

2) 16

3)15

4) 17

Correct Answer: 17

Candidate Answer: 17

QID : 11 - In the English alphabet, which letter is 13t from right end?

3ol qufmTen # o BR ¥ 13-3 RIM W B A1 31&R 32
Options:

1)L

2)M

3)N

4)0

Correct Answer: N

Candidate Answer: M

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
HANDSOME
fou Tu vy B, Fafifed fawedt 3 9 95 sg 9T S U 7T Xeg F $1aRT 1 TN dRas gt SR S el g

HANDSOME
Options:
1) HATS
2) HOME
3) NAME
4) SAND

Correct Answer: HATS
Candidate Answer: HATS

QID : 13 - In a certain code language, "ACCOUNT" is written as "DFFRXQW'". How is "MATHS" written in that code language?

T ARy HIs YT H, "ACCOUNT" &' "DFFRXQW" foraT STl 1 39 &1s UTWT Hf "MATHS" &1 {59 UsR forar sem?



Options:
1) PDWKV

2) PKLKP
3) PEWLU

4) PWDVK
Correct Answer: PDWKV
Candidate Answer: PDWKV

nonan

QID : 14 - If "-" means "divided by", "+" means "multiplied by", "+" means "added to", "x" means "subtracted from", then

11+6-2+5x3=?
gfe; " o7 3fef "uTT B, "+ 1 31 Mo B, - ot 3 rSivg” R, "x" @1 oref "wera §, Y

11+6-2+5x3="?
Options:

1)17

2)21

3)23

4) 26

Correct Answer: 23
Candidate Answer: 23

QID:15-If3#6 *9 =45and 9 # 8 * 7 = 105, then what is the value of 5* 6 # 3 = ?

IE3#6*9=45TUO#8*7=105%, A5*6#3 =2 BIAFFTI?
Options:

1) 14

2) 68

3)86

4) 90

Correct Answer: 68

Candidate Answer: [ NOT ANSWERED ]

QID: 16 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Aeafiea v & for o freul & @ uy Rg
(?)%F TUT W HE It @A F gRATI

336|170 | 748
523| 78 | 349
431 ? | 328

Options:

1) 33

2)34

3) 36

4) 37

Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]



QID:17-
How many triangles are there in the given figure?

o & 7% sl # frea Fegw ¥
T \
N AN
R

Options:
1) 16

2) 20
3) 22

4) 24
Correct Answer: 22
Candidate Answer: 22

QID : 18 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All bags are tables.
II. No table is red.

Conclusions:

1. Some bags are red.
II. All bags are red.

ﬁ%%qwu%ﬁwmmsh?mmBqﬁuﬁwawﬁawﬁwmw% BTeAifes ITH AT 1 et I e 81 gandt 31wt ey ug oiR fosr Feffva
B b QU MU B @ Fewd, 3T U Sl & 3R R gfaasid g

DY:

Lo 1 A9 B
II. I3 A A1 T8l 71

e

. $% a9 914 3

11 T % A B

Options:

1) Only conclusion (I) follows.

Had sy (1) 9t 1

2) Only conclusion (II) follows.

Paa ey (11) I 21

3) Neither conclusion (I) nor conclusion (II) follows.

T a frsed (1) 3R 7 € Fsed (11) Wl B

4) Both conclusions follow.

1 &) Fredf Wt €1

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
T d fsey (1) &R 7 € fepef (11) W B

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

T e (1) iR 71 €t s (1) WE B



QID:19-
From the given options, which figure can be formed
by folding the figure given in the question?

rafefa et & @ Flg @ 393 snpfa vy
& & 7E FF FT AsHT FE ST Fehar B7

L]
|
Options:
1)

Correct Answer:
P i
e

Candidate Answer:

@
. g

QID : 20 - Identify the diagram that best represents the relationship among the given classes.

Bull, Animal, Carnivorous
I8 3@ AT ot 2 3 U ot & o & ey @1 wel e war g1
9, TR, AIATERY



Options:
1)

N

W

)

%l®®©

Correct Answer:

g

Candidate Answer:

S

QID: 21 -

Which answer figure will complete the pattern in the
guestion figure?

H W IR AP UH FFla & ufdwT & q@
Faft?




Options:
1)

2)

Correct Answer:

Candidate Answer:

QID: 22-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TR IR FPadl A ¥ 39 TR HEA H gET
o & vy 3pa BRI &

<




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 23 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dr & ux spfaat A fGEmw 3gER @ @
ABAHT Teed JUT Tield & aIg 98 hd 3R AP
s T g




Options:
1)

AA
@]
A A

2)
A AA

O 0O
VvV _ ¥

3)

AA
000
Vv

4)

A A A
00O
v vV Vv

Correct Answer:
A AA

O 0O
VvV _ ¥

Candidate Answer:
AA

Qo0
Vv

QID: 24 -
If a mirror is placed on the line AB, then which of

the answer figure is the right image of the given
figure?

Ife T YT H AB @ W W@ AW, o1 & TS
IR ApATT # T i O deY oy Aea @
T ufafess gefr?

b




Options:
1)

2

3

4

@) S

Correct Answer:

@)

Candidate Answer:

@)




QID: 25 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented by
two classes of alphabets as shown in the given two matrices. The columns and
rows of Matrix-l are numbered from 0 to 4 and that of Matrix-ll are numbered
from 5 to 9. A letter from these matrices can be represented first by its row and
next by its column, for example, ‘P’ can be represented by 02, 10, efc., and ‘G’
can be represented by 66, 98, etc. Similarly, you have to identify the set for the
word “TRAIL"

U G hadl U TCA-HHE S AT T § Sk 6 Eeedt # @ fed
T # T T ¥ Aweut # BT o TEaT-mag AW & ol 99 gHr guiw
o o T AR e oo g ameggl o B e & vaeH it ofk
e 0@ 4 & aE 3 Inegell f 5 & 91 = gl & uh IEE @ u
Fad Ufth 3N 9 # TOEH S R G T | 3ErAer & o P W@
02, 10, 3% g gelfr & whar ¥ our ‘G’ @ 66, 98, 3N gWr gefwr S
T E S AT @ el wH A Bu aw gEg “TRAILY & fOw wep @
Ul

Matrix-l Matrix-Il

Kilz: | -l
0(1]2(3[4 5|6|7|8]9
0|1 |T|P|RJU 5(G|A|L|H|S
1|PI(RIU|I|T B|H|G|S|A]|L
2Z|{T|I1|R|JU[P T|AIL|G|S]|H
3(R(U|T|P]I 8|S|HIA|L|G
4|1U|P|I1|T|R 9|L|IS|H|G|A

Options:
1) 01, 03, 75, 00, 68

2) 14, 30, 68, 13, 58
3) 20, 44, 99, 21, 96

4) 43, 11, 56, 34, 88
Correct Answer: 43, 11, 56, 34, 88
Candidate Answer: 43, 11, 56, 34, 88

QID : 26 - Which of the following rate is charged by banks to their most credit worthy customers?

Frofied & 4 $H @ R SB §RI BT & [T 30 Fod I Aech! J ayel St 82
Options:
1) Prime Lending Rate
YATH YR X
2) Statutory Liquidity Rate

i WA R
3) Bank Rate
EEaeay
4) Repo Rate

x®

Correct Answer: Prime Lending Rate
YATH YR R
Candidate Answer: Prime Lending Rate

TAAH IR R

QID : 27 - Medium term loans are provided for a period of .

Ay B T P 3fafey & o f ekt g
Options:

1) 1 year to 2 years

1992

2) 15 months to 3 years

1598 9 3 9¢

3) 15 months to 4 years

15 718 ¥ 4 T

4) 1 year to 3 years

1 I 39y



Correct Answer: 1 year to 3 years

13§ 3a¢

Candidate Answer: 1 year to 3 years

1959 3 af

QID : 28 - Which of the following is a feature of federal Government?

Frofifead & @ o W I WeR 3 1 =war 32

Options:

1) Supremacy of Parliament

IHg B

2) Supremacy of J\ydiciary

qIA®T &1 Faredm

3) Division of powers between federal and state Government

TG T IAT & S Gt T faaRor

4) Single citizenship

Thd MRS

Correct Answer: Division of powers between federal and state Government
T T I4! & St Gl BT faaRor

Candidate Answer: Division of powers between federal and state Government

T YT 34t & o Afdadt BT faavor

QID : 29 - Under which article, President of India can proclaim financial emergency?

fore srgde & siarfd, YR & pufd gRT fawig siuTaeTe AR fam o Febar 82
Options:
1) Article 32

TG 32

2) Article 349

TG 349

3) Article 360
360
4) Article 355

=54 355

Correct Answer: Article 360
TS 360

Candidate Answer: Article 360

TG 360

QID : 30 - Who was the founder of the Ghadar Party?

TeR U & GRS B &2

Options:

1) Basant Kumar Biswas

TIT FAR Ay

2) Sohan Singh Bhakna
ISERICE!

3) Ram Prasad Bismil

¥ wTG fofdre

4) Bhagat Singh

UGN

Correct Answer: Sohan Singh Bhakna
Rig wre

Candidate Answer: Bhagat Singh
Wid Rig

QID : 31 - In which year (in AD) was the East India Company established?

£ 33T ol &1 T fhw af (Sudt §) & gen ure
Options:
1) 1664

2) 1632
3) 1600

4) 1608
Correct Answer: 1600
Candidate Answer: 1600



QID : 32 - Himalayan mountain range falls under which type of mountains?

fewTea uda e b UeR & udd ot F e 82
Options:

1) Block Mountain

i gdd a1 Y gdd

2) Residual Mountain

3) Accumulated Mountain

4) Fold Mountain
aferd dd
Correct Answer: Fold Mountain

Candidate Answer: Fold Mountain

gferd udd

QID : 33 - 'Norwesters' are thunder storms which are prominent in

IR I 1 BTel SURGr S A Seiged e E, W H uHE gl
Options:

1) India and Bhutan

HRA qYT T

2) Bhutan and Nepal

YT T AT
3) India and Bangladesh

YRA qUT I
4) Bangladesh and Myanmar

AT T4 AR

Correct Answer: India and Bangladesh
YR a1 IRATGET

Candidate Answer: India and Bangladesh
YRA qUT ISR

QID : 34 - UV rays coming from Sun, majorly causes which cancer?

T 3 arelt fFRON | TRAa: I W1 BRI BIT 82
Options:

1) Lungs cancer

B BT HHINT

2) Liver cancer

AR BT

3) Mouth cancer

g BT HHAT

4) Skin cancer

TN HT BB

Correct Answer: Skin cancer
oddl bl

Candidate Answer: Skin cancer
TN T BB

QID : 35 - Which of the following is the largest mammal?

fRafafad 7 9 o 91 o faenaas 82
Options:
1) Whale

2) Rhinoceros
3) Elephant
BTt

4) Human
HHg

Correct Answer: Whale

Candidate Answer: Whale

QID : 36 - What is the full form of RNA?

3R.TA.U. BT 3R =Y 1 87



Options:
1) Ribonucleic Acid

2) Ribonitric Acid

X

3) Ribonutrient Acid
There s
4) Reverse Nucleic Acid

Correct Answer: Ribonucleic Acid

Candidate Answer: Ribonucleic Acid

QID : 37 - At which of the following place, weight of an object is maximum?

Fraffed & 3 f59 wH W T 9% $T UR Haiiie g 8?
Options:
1) At poles

4q T
2) At equator

YA @0

3) At tropic of Capricorn
THR X

4) At tropic of cancer

Correct Answer: At poles
§a &
Candidate Answer: At poles

¢a Xl
QID : 38 - What is the SI unit of temperature?

YA &1 TH. 3MTS. AFD T 872
Options:
1) Kelvin

2) Joule

S

3) Celsius
BISIEE

4) Fahrenheit

Correct Answer: Kelvin

Candidate Answer: Kelvin

QID : 39 - Netscape Navigator is a .

Jey AR T gl
Options:
1) graphical user interface
e JoR $ethy a1 fafdiu dieies T e
2) programming language

RT HTST AT SHHTGR HTT
3) web browser
39 ISR 1 39 U§ uRddd
4) processor
URIR 1 e
Correct Answer: web browser
39 SISR T 99 4§
Candidate Answer: web browser

39 STSTR 7 39 U§ uRddd

QID : 40 - What is nature of pH of Milk?

Y & 0. 9. 3T Upfa w82



Options:
1) Slightly Acidic
ST S

2) Slightly Basic
dIgT &R

3) Highly Acidic
AP St
4) Highly Basic
il &y

Correct Answer: Slightly Acidic
ST ST

Candidate Answer: Slightly Basic

QID : 41 - Which among the following is not an example of emulsion?

Frofifad o o1 91 T U 91 SHeRM $T IaTERU el 87
Options:

1) Chocolate-Milk

Tlpae-gy

2) Butter

HRG

3) Whipped Cream

Tt g8 HATS

4) Curd
Correct Answer: Curd

Candidate Answer: Chocolate-Milk

Tipele-gY

QID : 42 - Kyoto Protocol's (an international treaty to reduce greenhouse gas emissions) first meeting was held at which country?

FNE! Merpid BT vy RReR T foyg 3o & smafor fasar mar ure
Options:

1) USA

Tgad o ARSI

2) Germany

ST

3) Japan
SIEIE]
4) Switzerland

Correct Answer: Japan
SIar

Candidate Answer: Japan
SILIE]

QID : 43 - 'Lucky Grahak Yojana' and 'Digi Dhan Vyapar Yojana' to give cash awards to the customers and merchants was launched by which government body?

9T PR TR GRT AEH! qUT SATANGT BT Fobg S 1 B T Tqab! AMeeh ToHT auT TSSit & IR TerT BT YHRY foar mar ur?
Options:

1) National Institution for Transforming India

TP WRA gRad TR

2) National Payments Corporation of India

3) Financial Stability and Development Council
fafa R ok fawm uRug

4) Reserve Bank of India

YR ford 9

Correct Answer: National Institution for Transforming India
TP WRA gRad TR

Candidate Answer: National Payments Corporation of India

HRATG IS Yia e
QID : 44 - Who among the following devised the technique IVF (In vitro Fertilization)?
frofafed # § frem emsdiue (39 fac widarerm a1 37 fae) mufur) do-ie 3 @ 3t o



Options:

1) Sir Frank Whittle
W P fFea

2) Robert Edwards

3) Edward Jenner

42 Dr. Martin Cooper
1. mféT R

Correct Answer: Robert Edwards

R

Candidate Answer: [ NOT ANSWERED ]

QID : 45 - 'Wimbledon' is a place associated with which of the following sports?

e @ Rafifed 7 3 vy 9 3 J6fd 82

Options:
1) Lawn tennis

2) Badminton
Ssfiiea
3) Hockey

4) Cricket

Correct Answer: Lawn tennis

v

M

Candidate Answer: Lawn tennis
qrg e

QID: 46 -
Match the following.

IGEGICECGECIRE: GRS

Artist | ellhiX
1. Yamini Krishna Murthy
el ool
2. M.S. Subbulakshmi
UH. TH. gegoAaH
3. Vishnu Diganbar Paluskar
farooy fEeret ueE
4. Pt. Shivkumar Shama
utd RagaAr =T
Options:
1) 1-c, 2-a, 3-b, 4-d
2) 1-b, 2-a, 3-d, 4-c
3) 1-d, 2-c, 3-b, 4-a

4) 1-b, 2-c, 3-a, 4-d
Correct Answer: 1-c, 2-a, 3-b, 4-d
Candidate Answer: 1-c, 2-a, 3-b, 4-d

Art | &l
Vocalist
Ik
Musician
wefraaR
Bharatnatyam
ATATETH

£

Santoor

I

QID : 47 - Who is the recipient of Arjuna Award 2016 in the field of athletics?

Tifedd & &7 § 2016 & 39 JREPR Wbl HIF g2



Options:

1) Vikas Gowda
fawmg et

2) Lalita Babar
GINGEICER

3) Neeraj Chopra
RS

4) Seema Punia
W gfrn
Correct Answer: Lalita Babar

SINGICER

Candidate Answer: Lalita Babar
INGEICER

QID : 48 - Six Machine (I Don't Like Cricket ... . I Love It)' is an autobiography of which famous batsman?

Ry 7= (38 S TR e ... 313 7 32) 5y ufig Tiae 3T ieTHuT 82
Options:

1) Virat Kohli

foRTe Frgh

2) AB De Velliers

ual & faferd

3) Chris Gayle
IERRIG]

4) Tillakaratne Dilshan
IGRERE]

Correct Answer: Chris Gayle

IERRIG]
Candidate Answer: [ NOT ANSWERED ]

QID : 49 - Which country is headed towards a confrontation over Gibraltar with Spain?

BIH-T1 37 RAsiTeex & RO WH & 1Y fare $ 3R SRR 82
Options:
1) France
g
2) Morocco
3) Germany
S
4) United Kingdom
fhTen

Correct Answer: United Kingdom

Candidate Answer: France
1*an)

QID : 50 - Which country has banned 'Facebook' ?
o 3= B rage’ ufasfie 82
Options:

1) China

EiS

2) Bhutan

Y

3) Nepal

BRI

4) Pakistan

ClIEESIE]

Correct Answer: China

Candidate Answer: China

QID : 51 - A fraction becomes 6/5 when 5 is added to its numerator and becomes 1/2 when 4 is added to its denominator. What will be the value of the fraction?

T i & 3 H 5 S § 98 6/5 B ST & a7 3P 83 H 4 Sie § 98 1/2 81 oidl 81 39 37 o7 719 o1 g



Options:
1) 8/9
2)7/10

3)7/8

4) 6/11
Correct Answer: 7/10
Candidate Answer: 7/10

QID : 52 - Amit can complete a work in 25 days and Punit can complete the same work in 20 days. Punit alone worked at it for 10 days and then left the work. In
how many days will Amit alone complete the remaining work?

3iftrg et B @1 25 foT o T R TehaT § U1 I I B I 20 A H 1 AR T 71 GHIT 10 3T I Sidpel BT IRAT § qUT ISP UG B SISHR Il
ST &1 N BT Y A bl et et | R Y
Options:
1)
111
2

2)

‘I21
2

3)

13
2

4)

143
2

Correct Answer:

121
2

Candidate Answer:

121
>

QID : 53 - The measure of the four successive angles of a quadrilateral are in the ratio 7 : 11 : 7 : 11. The quadrilateral is a

T TSI b 4 HANA BT BI AT 7:11:7: 11 B AU A 2| TGS TH 8|
Options:

1) trapezium

NUKES)

2) rectangle

3ad

3) parallelogram

TR TGSt

4) square

Correct Answer: parallelogram
FHR gt

Candidate Answer: parallelogram
TR aget

QID : 54 - What is the discount percentage offered on a book having marked price Rs 2150 being sold at Rs 18927

foram vfoId @1 ge <t TS B Te TWe W ST sifthd gwa 2150 ¥ § ! 1892 % # a1 T 82
Options:

1) 12

2)13

3)14

4) 16

Correct Answer: 12

Candidate Answer: 12



QID : 55 - Rs 60500 is divided among A, B and C such that A receives 2/9 as much as B and C together and B receives 3/7 of as much as A and C together. What is
the share of C (in Rs)?

60500 T BT A, B dUT C 7 3H UHR qieT OIdT & {6 A T HRT B TUT C H $& HFT BT 2/9 8, TUT B BT HNT A TUT C F T U BT 3/7 Bl C BT U (3 H) foha 82
Options:
1) 29850
2) 30120
3) 31350
4) 37250

Correct Answer: 31350
Candidate Answer: 31350

QID : 56 - The average age of a class of 6 girls is x years. Four new girls having ages x — 2, x + 2, x + 4 and x + 6 joins the class. What is the new average age (in
years) of the class?

6a%ﬁ7ﬁﬁqasas&nﬁaﬁﬂa&rrgxmf%l4:{d1as%qf,waﬂgx—z,x+z,x+4aznx+eé,ﬁw&nﬁmﬁaﬁamw%m&nﬁwaﬁw&ng(ﬁﬁ)
T R?

Options:

1)x+1

2)x +2

3) 2.5x

4)x + 2.5
Correct Answer: x + 1
Candidate Answer: x + 1

QID : 57 - A dealer sells two machines at Rs 12000 each. On one it gains 32% and on the other it looses 32%. What is its profit/loss percentage in the whole
transaction?

TP IRY &1 AT BT 12000 T i AT B X I 3= 31 T A=A TR S 32 WA o7 ard 97 gust A=i IR 39 32 vfawid @ g1 gict 81 R F 29 1 ufshar
T IHHT ATH/T BT U= o1 gIm?
Options:

1) No gain and no loss

TAM qur T B

2) 1% loss

1% BT

3) 18% profit

18% oH

4) 10.24% loss

10.24% g1

Correct Answer: 10.24% loss
10.24% I

Candidate Answer: 10.24% loss

10.24% &I

QID : 58 - How much water (in litres) must be added to 80 litres solution of milk and water containing 10% milk, so that it becomes a 5% milk solution?

80 TR go aur Uit & farsyur, foras gy Y 1 10% @, H e it (cher &) firamar o afds a8 5% g ara fArsyor & Sme?
Options:

1) 10

2) 20

3) 40

4) 80
Correct Answer: 80
Candidate Answer: 80

QID : 59 - A bus travels 2/5 of a total journey at its usual speed. The remaining distance was covered by bus at 6/7 of its usual speed. Due to slow speed it reaches
its destination 50 minutes late. If the total distance is 200 kms, then what is the usual speed (in km/hr) of bus?

U@ 9 AU 1 P 2/5 SI2 YA T & Fekd] o1 90 §3 g4 99 AR F 6/7 B 10 & 70 Halt ¢ deft 7 & SR 38 S0 ey R W 50 e »1 8 9
ugad 31 afd Ta g 200 .. B, & 99 & g 1Y (7. /ger #) F@ el

Options:

1) 20.57

2) 24

3) 28

4) 26.52

Correct Answer: 24

Candidate Answer: 24



QID : 60 - For an amount, simple interest at the rate of interest of 12% per annum for 6 years is Rs 25920. What will be the compound interest (in Rs) on same
amount at the rate of interest of 8% per annum compounding annually for 2 years?

T AR R 12% BT TP R T 6 T BT LR S 25920 3. T I AR W 8% I A1¥ies <R F I1fep TS W 2 N BT bl = (3. H) FT SN2
Options:
1) 4326.3
2) 5563.4
3) 5888.6
4) 5990.4

Correct Answer: 5990.4
Candidate Answer: [ NOT ANSWERED ]

QID : 61 - If a and B are roots of the equation 3x2 - 13x + 14 = 0, then what is the value of (a/B) + (B/a)?

& o TUT B TSP 3x2 — 13x + 14 = 0 F LI o, & (a/B) + (B/a) HT A FT &2
Options:

1) 65/28

2) 53/14

3)9

4) 85/42

Correct Answer: 85/42

Candidate Answer: [ NOT ANSWERED ]

QID:62-Ifa+b+c=9andab + bc + ca = 18, then what is the value of a3 + b3 + ¢3 - 3abc?

gida+b+c=9qUab+bc+ca=18, d as + b3 + 3 — 3abc BT HH AT &?

Options:
1) 189
2) 243
3) 361
4) 486

Correct Answer: 243
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - If (x/y) + (y/X) = 1, then what is the value of x3 + y3?

T (xfy) + (y/x) = 1, A x3 + y3 &1 A 182
Options:

1)-1

2)0

3)1

4)3

Correct Answer: 0

Candidate Answer: 0

QID: 64 - If 5% = 307 = 67, then what is the value of (xy + yz + zx)/xyz?

e 5% = 307 = 67, T (xy + yz + zx)/xyz BT M FT &2
Options:

1)0

2)1

3)2

4)3

Correct Answer: 0

Candidate Answer: [ NOT ANSWERED ]

QID : 65 - The internal bisectors of 2Q and «R of triangle PQR meet at O. If 2P = 70°, then what is the measure of 2QOR (in degrees)?

33T PQR & £Q TUT £R F 3MidRe fgHeis 0 W firerd 81 3f 2P = 70° ], df 2QOR &1 A (f&3ft &) 7 &2

Options:
1) 110
2) 115

3) 125

4) 135
Correct Answer: 125
Candidate Answer: 125



QID : 66 - If the areas of two similar triangle are in the ratio 5 : 7, then what is the ratio of the corresponding sides of these two triangles?

Ife & T Py % &A% BT U 5 ¢ 7 §, 0 37 &l Byel &) Taew Yoafl &7 uTd o 82
Options:

1)5:7

2)25: 49

3)V5: V7

4) 125: 343
Correct Answer: V5 : V7
Candidate Answer: V5 : V7

QID : 67 - ABCD is an isosceles trapezium such that AD||BC, AB = 5 cm, AD = 8 cm and BC = 14 cm. What is the area (in cm?2) of trapezium?

ABCD Ueh HHfgeTg qweldl 8, for AD||BC, AB = 5 9.1, AD = 8 A3, AuT BC = 14 1.7, §1 FHeid b1 &t (J.41.2 H) 1 82
Options:

1) 36

2) 44

3) 88

4) 144
Correct Answer: 44
Candidate Answer: [ NOT ANSWERED ]

QID: 68 -
In the given figure, ABC is an equilateral triangle. If
the area of bigger circle is 1386 cm?, then what is the
area (in cm?) of smaller circle?

& % WPl A, ABCTE wHag e ¥ ARy @@
FaH GG 1386 WA 2L, A R g9 & AT

(@A A2 AT &2
A
f\\
/i*"jl\\\
;.f' l'.\ )'I\\
1 B 7
B C
Options:
1) 144
2) 154
3) 288
4) 462

Correct Answer: 154
Candidate Answer: 154

QID : 69 - What is the simplified value of [(tan? 6 — sin? 6)/tan? 6 sin? 8]?

[(tan? 8 — sin? 8)/tan 8 sin? 8] BT T I T 82
Options:

1)-1

2)0

3)1

4)2

Correct Answer: 1

Candidate Answer: 1



QID : 70 - If sec (3x — 20°) = cosec (3y + 20°), then what is the value of tan (x + y)?

T2 sec (3x — 20°) = cosec (3y + 20°), dl tan (x + y) BT HF FT 22
Options:

1)1

2) V3

3) 1/V3

4)2V3
Correct Answer: 1/V3
Candidate Answer: 1/v/3

QID:71-If cot A=n/(n+ 1) and cot B = 1/(2n + 1), then what is the value of cot (A + B)?

Tfe cot A = n/(n + 1) TUT cot B = 1/(2n + 1), T cot (A + B) T A T 8?2
Options:

1)-1

2)0

3)1

4)2
Correct Answer: — 1
Candidate Answer: [ NOT ANSWERED ]

QID:72-
The bar chart given below shows the sales of 3 types of
cars in the Indian automotive industry over 4 years. All
the sales figures have been shown in terms of ‘000
units.

= Ry o7 gus B & yRdE Ater =T & 4 gut
# 3 U & F Hr by Fr g mar g fEfr
HT 3TRET BT ‘000 SHTS & FT A AT AT &
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Which of the following type of car has the highest increase in sales from 2009 to 2012?

frafifed & 3 f5d TeR 3 &R @1 faw! & 2000 § 2012 7% if¥wad 9 g3 &2



Options:
1) Hatchback

2) Both SUV and Hatchback
Ty, g, o, qUT g98® gl
3) Suv

. g, qn

4) Sedan

IS

Correct Answer: SUV
. g, qn

Candidate Answer: SUV
Ty, g, ¢,

QID: 73-
The bar chart given below shows the sales of 3 types of
cars in the Indian automotive industry over 4 years. All
the sales figures have been shown in terms of ‘000
units.

= Ry o7 gus B & yRdE Ater =T & 4 gut
# 3 U & F Hr by Fr g mar g fEfr
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What is the simple annual growth rate (in %) in the sales of SUV from 2009 to 2012?

2009 ¥ 2012 9% TY. g, Y. 3 faet o Wy aiffe i <R (% H) famit 32
Options:

1) 90

2) 100

3) 133.33

4) 150

Correct Answer: 133.33

Candidate Answer: 100



QID: 74 -
The bar chart given below shows the sales of 3 types of
cars in the Indian automotive industry over 4 years. All
the sales figures have been shown in terms of ‘000
units.

& far 7w gus R # 9RET AT 39T & 4 auf
#H 3 gt Fr FRE G ToRhr F AT T B TR o
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What is the respective ratio of total sales of Sedan and total sales of SUV over the period of 4 years?

JSH P 4 a8 Bt ol B! TUT T g, o). P 4 a6 B Pt BT BT HH: U T 82
Options:
1)23:31
2)29:39

3)43:31

4)76:47
Correct Answer: 43 : 31
Candidate Answer: 43 : 31



The bar chart given below shows the sales of 3 types of
cars in the Indian automotive industry over 4 years. All
the sales figures have been shown in terms of ‘000
units.

& far 7w gus R # 9RET AT 39T & 4 auf
#H 3 gt Fr FRE G ToRhr F AT T B TR o
FHY 3fTmEt B ‘000 ShrE F w7 H g T ¥

® Hatchback / ¢ ™ Sedan / ¥== U SUV / va.g 4.
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If all the 3 categories increase by same rate in 2013 over 2012 as they did in 2012 over 2011, then what will be the total approximate sales (in ‘000 units) of all the
3 categories taken together in year 2013?

g weft ST 2013 7 2012 T I & W G X o R WS 2012 7 2011 ¥ &1 <off, & 2t 3 0 & 2013 & Fa AT foeht (000 SHTS H) FT BRI
Options:





